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2. Simplify the expression(-4)'7 X (-2)'7

) 878 (i) 80 (i) 107 (iv) 87 (v) 577
2,2 6y 3 28
. [(97) x(9%) " ]+9
() 1 (i) 2 (i) 9 (iv) 4 (v) O
3 2
3 1
4. Thevalueof(-z) +(2)
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(i) (%) (i) 1 (i) (g) (iv) (g) (v) (g)

6. Write the given number in usual form-4.64131 X 108

(i) -4641310000 (ii) -464131000 (iii) -4641310 (iv) -46413100000 (v) -46413100

7. 17=
(i) 0 (i) 1 (i) undefined (iv) o (v) -1



Find the exponential notation of
" 6X6X6X6

() 62 (i) 6% i) 9% (iv) 63 (v) 3%

10. Thebasein the term78 is

(i) 7 (i) 4 (i) -8 (iv) -7 (v) 8

-2 -3

11. The value of( : ) —(-_; )

2
M 2 i (63) iy 2 v 2 W &
16 16 16 2 16

12. Find the prime factorization 0of5376

() 28x32x7 (i) 28x3x7 (i) 28x3x6 (iv) 28x3x7 (v) 28x5x%x7

-2
_ -1
13. Expand the following base power( 5 )

(i) -8 (ii) -2 (iii) 3 (iv) 4

14, 2082 b7 3=

(i) 18XaxaxbxbxbxbxcxcxXc (i) 20xXaxXxbxbxbxXxbxcxXxcXc (iii) 23XaXaxXbXbXxbXbXcXcXc

(iv) 20xXaxaxbxbxbxbhbxcxcxXc (v) 20XaXaXaxXbhbXbhbXbXbXcXcXc

Find the exponential notation of
15. 5 5 5 5
X — X — X
3 3 3 3

3 5 4 4

(i) (Z) (i) 1 (i) (Z) (iv) (2) (v) (;)
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Theexponentin the term 4 is

W -4 (i) 4 Gy (Z) (v L W >
| - I 11 2 v 2 Vv 2
,_(9W+9)
('r(—8w) )=
Q) I‘(14W2+41W+18) (i) r(17W+9) (iii) r(17W+10) (iv) r(W+9) (v) r(3W—3)
Simplify the expression(-S)'7 x (-5)72 x (-5)6
M) 572 (i) (7722 (i) (-3)722 (iv) (-5)22 (v) (-5)723
The value of22+33
2
M = i (iii) v 2 W (-4)
27 9 27
- 5u4. - 3u(_6). - 9u9. - 2u(-3) =
M) —100’? (i) =300”? i) 2704 vy 7439 () —1007
-4 2 2
(9('2)) x(112) x(122)
4 2 4
(92) x(1172) " x (121
8. .. (-4) 9. . (-4) 8. . (-4) 8. . (-

(i) 1x11 "x12 (i) 1x11°x12 (i) 1x11"x12 (iv) 1x11 "x12

(-9%x-7x7) =

() (-9)2x(7)Ix71 (i) (-9)2x(-9)2x472 (i) (-9)2x(-7)2%x72 (iv) (-9)

(v) (-9)2x(-5)2x1072

Simplify the expression 672 x67

i 9% Gy 612 i) 6713 (iv) 3714 (v) 6714

Simplify the expression 87 X 85

i 813 iy 812 iy 512 (iv) 1112 (v) 81l

(5214 =

i 52 i) 58 i) 28 (v) 57 (v) 78

3)

X(-7)

-3

X7

-3



Assignment Key

1) (v) 2) (iv) 3) (i) 4) (ii) 5) (iii) 6) (ii)
7) (v) 8) (i) 9) (ii) 10) (i) 11) (i) 12) (ii)
13) (iv) 14) (iv) 15) (iv) 16) (iv) 17) (ii) 18) (iv)
19) (iii) 20) (iii) 21) (i) 22) (iii) 23) (v) 24) (ii)
25) (i)
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